#EE  REBOR—LRUT = “ o) g — MHTDT
»m  crresmoLer, 29 (I~SEIB) V4D EHE FAXTEX AR FAX: 0120-6-91989
g ?S%ﬁﬂ. %%%%(Bgﬁ%%) . _'EFE? itz);;?ff BE H’Elﬁﬁi@@*ﬁgﬂaf'@[:
% 1% = ' 14~ 1685 FERLIAALTZSLY,
rBREILKEEINE—DBEERATE 16~18% | @AFHEH:
% |BRBAE: BEHS (BEHKES) T 18~208%
#® CEFR: 19~218% m
x ¥ fEEL
X BRERITOESEIZ. EEBEUFEREANIMNYET, RIEOZBRADEFDHEICLY CHERBNLEIEAHYET,
1B H 2[alH 3[EH 4[eTH 5[
3AGR) BEIT 3/8(%) HEIT 3/15GE) BEIF 3/22(%) BREIT 3/29(%) BET
No. RS 5| & No. s &% | ¥ No. i %] & No. Ei s 5| & No. A 5] %
1| A A 910 1 TE@?\)Z)V\‘/ 850 1|\EX 810 1 [FiA N =2 [ 780 1 | 750
ey 5 D W LART O L HEHT 723D A D R DDA
2| 810 2|2y 930 2 B2 L 840 2 [z AnEFEWS | 840 2 TR 1480
31527 AT aao 3 [P SO g0 3 [iEedes 890 3 R 790 3 | Mt = 850
4 |2—v LR ThIY—] 560 4| BWITAB AT 560 4 | Xy NV DK 560 4 |¥gEor'272—7°| 560 4 [DHNEHT-EEA| 560
5(S/v 7tk 1280 5 (S8R 1210 5SSy 7tk 1250 5|S/ 8y 1200 5 (SR 1190
6 [ffafh N T4 2| 1320 6 [fnEFAL Y 1270 6 [BIEFEEITM 1280 6 [ZiA =) 1170 6 |k 1120
7 |7HIeHIBEDA A 570 71503 640 7 |& NV F—=Ds)—hn 680 7SS (2o Ne7) | 650 7 |MMIVE =7 620
8 | AhDEEAZH 640 8 XD D&Y 550 8 | LSl =Y 650 8 LN s—aE 640 8 [T RIREEVE 520
9 |LAOLE 540 9 [ITohAELLD 540 9 [HR KA <z ALZ] 530 9 [OLxDiBVL- 580 9 [BLDOEWY 540
10| 3932722 5085 590 10|BF3E- > 50881 590 10| 932725 508K 590 100|873~ > 501 590 10|BF3E7- - 50887 590
MAFKELIOWS5—| 810 1M KLOMm5—| 810 MNP KL S—| 810 MAFBHELOMWH5—| 810 1M KLxoms5—| 810
12| R T 590 12| R T 5 590 12| R TS 590 12| R T 5 590 12| R TS 590
13| 5o AR A4 820 13| 5o EABIFA 820 13| 5o AR 4 820 13| 5o tARIF A 820 13| 5o bARMA 820
21|EE 610 21| 5 610 21| 610 21|58 610 21|E4; 610
22| —Fx—rv 790 22| IV —Fx—nv 790 22| —Fv—nv 790 22| —F—y 790 22| —Fr—nry 790
23|I AT Ak 630 23| AT AR 630 23| AT AR 630 23| AT A ZEREARL 630 23| AT AR 630
24| FER S DEV K 680 24| FEBR D EVR 680 24| FER S DEV K 680 28| FER D EVR 680 24(HER DO EN R 680
25 R Dk i 1+ 780 25ROk iE 780 25K DI i 1+ 780 25K Dk yE 780 25 (/R DRI I 1 780
=¥} (6,000M LLE) 0 = $ (6,000MLLE) 0 £ (6,000M LLE) 0 £ $1 (6,000 LLE) 0 1%£%4 (6,000 LLE) 0
=¥ (2,500HLLE) | 500 =¥ (2,500 E) | 500 =% (2,500HLLE) | 500 =¥ (2,500HLLE) | 500 %% (2,500MHLLE) | 500
=$ (2,500 %%) | 800 =% (2,500M %K) [ 800 %% (2,500 %KE) | 800 =% (2,500 %%) | 800 %%l (2,500 %) | 800
SEtEEE: SEtEEE: BEtEEE: SitEEE: SEEEE:




2E BROR—ILAUT B (f~ . Oy /gD —3 nNHTDHT
70 criesmolss. 285 (6~10EB) Vv I\ EHE FAXTEXX AR FAX: 0120-6-91989
g ?S%ﬁﬂ. %%%%(Bgﬁ%%) . _'EFE? itz);;?ff ?SE H’Elﬁﬁi@@*qgﬂgf'@[:
% 1% = ' 14~ 1685 HFHELIAALIESY,
rBREILKEEINE—DBEERATE 16~18% | @AFHEH:
% |BRBAE: BEHS (BEHKES) T 18~208%
#® CEFR: 19~218% =
x ¥ fEEL
X BRERITOESEIZ. EEBEUFEREANIMNYET, RIEOZBRADEFDHEICLY CHERBNLEIEAHYET,
6[a[H 7 H S[a[H o[eTH 10[E[H
4/5(%) BETF 4/12(%) BREIT 4/19(F) BE1T 4/26(%) BREIT 5/3(%) HRET
No. RS 5| & No. s &% | ¥ No. i %] & No. Ei s 5| & No. A 5] %
A DZL EAAA WA DD <4V FEL Y a—Fy YD SR S0E0I DT
s 820 1 el 830 1 v A 810 1 |ZEIANR— 780 1 Ve 890
IE E 7&K
2 lEE L NHE 830 2 |E& 760 2 | = A K HEAR 790 2 |Lo S F vy | 1420 2 |k 750
AZA
SbSDEEN N AT LRI O o R EME 1 FALFRORF
3 P 810 3 |BHANTEEEIX | 1230 3|5 750 3 o 790 3 XOEHb 810
4 Ak AWTLHB 560 4| B2F =7 560 4 | s ltg N 560 A\ HBI A AT 560 4\ =Yy)r—=7" 560
5(S/v 7tk 1040 5 (S8R 1500 5SSy 7tk 1180 5|S/ 8y 1160 5 (SR 1210
6 | BT 1230 6 [ECADEITH | 1380 6 [HakEx EnH50 1230 6 [ZiA =) 1170 6 [ TN )T 1380
7 |BF3F-> 5044 580 7 |’ DB =T % 560 7 |EEALDY )N =Y 560 7 EBEDO/-REZI] 550 7 |ABIBAKFA" 24| 560
8| HEUUX 570 8 |fBEADFF? 570 8 (DT —H4 500 8 (lvrantt=Avd| 640 8 [ARLBmLEF DY 570
9 |AeDHHERYT74 580 9 [BIVFLKIROEY 540 9 |LyavDEAUS | 570 9 |[FZIFHLz Az 600 9 |LAEEX 580
10|87 327= - 5508 590 10|BF3E- > 50881 590 10|87 32 7= - 5508 590 100|873~ > 501 590 10|BF3E7- - 50887 590
MAFKELIOWS5—| 810 1M KLOMm5—| 810 MNP KL S—| 810 MAFBHELOMWH5—| 810 1M KLxoms5—| 810
12| R T 590 12| R T 5 590 12| R TS 590 12| R T 5 590 12| R TS 590
13| 5o AR A4 820 13| 5o EABIFA 820 13| 5o AR 4 820 13| 5o tARIF A 820 13| 5o bARMA 820
21|EE 610 21| 5 610 21| 610 21|58 610 21|E4; 610
22| —Fx—rv 790 22| IV —Fx—nv 790 22| —Fv—nv 790 22| —F—y 790 22| —Fr—nry 790
23|I AT Ak 630 23| AT AZERARY 630 23| ATz A ERARY 630 23| AT A ZEREARL 630 23| AT AR 630
24| FER S DEV K 680 24| FEBR D EVR 680 24| FER S DEV K 680 28| FER D EVR 680 24(HER DO EN R 680
25 R Dk i 1+ 780 25ROk iE 780 25K DI i 1+ 780 25K Dk yE 780 25 (/R DRI I 1 780
=¥} (6,000M LLE) 0 = $ (6,000MLLE) 0 £ (6,000M LLE) 0 £ $1 (6,000 LLE) 0 1%£%4 (6,000 LLE) 0
=¥ (2,500HLLE) | 500 =¥ (2,500 E) | 500 =% (2,500HLLE) | 500 =¥ (2,500HLLE) | 500 %% (2,500MHLLE) | 500
=$ (2,500 %%) | 800 =% (2,500M %K) [ 800 %% (2,500 %KE) | 800 =% (2,500 %%) | 800 %%l (2,500 %) | 800
it &5 SEtEEE: BEtEEE: SitEEE: SEEEE:




